LoKkaxxute paBeHCTBO reOMeTpuyYecku

(a + b)N2 =an2 +2ab + b~2

loacka3ka:

PaccmoTpuTe KBaApaTt co CTOPOHOM a + b u nocumutaiite ero
nsaowaab AByMs criocobamm: LEIMKOM U 110 4acTaM

a’2+2ab+b"2=a’2+ab+ab+b"2=a(a+b)+b(a+b)=(a+b)(a+b)=

(a+b)"2

(a+b)*2=(a+b)(a+b) = (a+b)a+(a+b)b=a’*2+ab+ab+b"2=

a’2+2ab+b”"2

a*(b+c)=a*b+a*c

S

+ o
a*a +
+ [

S=a*a+b*b+a*b+a*b no yactam
S=(a+b)(a+b) nnowagb LENMKOM
(atb)(atb)=a*a+b*b+a*b+a*b
(a+b)N2=a"2+b"2+23*b

a*b

ac

S=a(b+c)
S=a*b+a*c
a(b+c)=a*b+a*c

b*b




